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Question Id : 9209069820 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

A 39 33U HRT WRPR R UK Ueh U1 s 8, Forad s & dgandiy uf]
3R T Hulai &1 YRd & 39 Idrel & Fnaio $3A & T diefed foar o1 w1 g | g8
Hter 31 & fob oiewa @1 oeft il &1 o 3= 6 €1 siftre ¥ sifties 811 uurvE ®ed & &
Y AT & fifd 9d $1 A9l & UdF Udbe R 08 31 3391 fRr@r 81 SR gg it dva
€ Od 39 9% B I S H g1 g1 & | 39 ShH &1 Igured Ul ot = Jidt A
25 RideR, 2014 @1 faar Y1 9YT S9ST 3220 X &1 AYhaaivl-gd §9FI ¢ | 39 dieFl &
FaaeEy [idd g 31 # ISR S SIR ANl &1 DI &HdT &1 [dH™ 8RN | 39 die1 9
a8 981 a1 gg g1 b =1 ¥ &+t 9% &l BIAd & gl aur g9 30 31 | &1 3% 3ff &1
Frafa &R w1 | S SfamEl SR g% BT 0 YR H 81 81 1 391 Faid Ieeig Sy
B WG BN | R RN I3 & Iare= # R g1 Jmem | guHsE 1 39 sy
B 3R DA BT Il 81 ST | HRG o 39 9 aq agsil &1 9ol Ide &
o, 9g fay & faeiia S @ =nfad 81 smem |

Sub questions

Question Number : 1 Question Id : 9209069821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUYer TRl F STYR W U Ifaa e fefau

(1) wifd ot fawn & o Han (2) ERY IATEH BT AT
(3) HS 3 3(0sT &1 YR AT (4) TR Hal &1 fasrg
Options :

92090638801. 1
92090638802. 2
92090638803. 3
92090638804. 4

Question Number : 2 Question Id : 9209069822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o8 T YAl &1 pH H fafa:

A

B.

C:

D.

E;

AP 3 3fvsar HTdHH &1 e 3 § [ o & =3l =il &1 Fmior S # € aifde
g i 8l

3 HTHH BT IguTed YA o T A1l A 25 Ryawr, 2014 &1 fda o)
29 TIeHT ¥ 9 a%gsfl 3 Hiad $H gl

W O] ¥ & Iare | AR g1 s

= HHH ¥ R AR =i o1 Joft & wftifera g smam

1 feu U faeedi § 9 9el I &1 904 Hiferg :

(1)
(2)
(3)
(4)

A CDBE
EEB D CA
A BCDE
C D EAB

Options :

92090638805. 1
92090638806. 2
92090638807. 3
92090638808. 4

Question Number : 3 Question Id : 9209069823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FyTRYME:

HYT | : AP 37 30T &1 312 & Hd &1 3=t =il &1 Fafor Sw A 8
FHUA Il - T H SR TN 3R AW ot I emdl &1 fas™ g
JWRIa HYF & 3MTelep H, A1 foU U fadhedl # ¥ Wel IR &1 994 SifoY

(1)
(2)
(3)
(4)

HU | 3R 11 ST TS B
&Y | SR 1| SFT 7Ted §
&Y | Fel €, Tfh HY 11 Tad §
HY | 7T0d 8, Afh B || Tel 8

Options :



92090638809. 1
92090638810. 2
92090638811. 3
92090638812. 4

Question Number : 4 Question Id : 9209069824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E:

FYF| . AF 37 30T YRd WHR gRI UKIdd U U1 H1dHH 8, s A §
SgRIP ST R W FHFET 1 WRd H U Il @1 Al & g
UieaTied faran S|

Y AP 39 30sar HAHH A [ g S H ASHIR F¢7 3R TN P HINE &l
CARGEARREUIN

IS HYF & faid H, g fEu 71 fawedi § 9 "el 3T &1 994 Sifelw

(1) YIRS TI R

(2) HYF SR 1IEHI A §

(3) YA A g, AP HUF 11 3 HA &
(4) @Y 3T g, Albd HUA 1| T 8

Options :

92090638813. 1
92090638814. 2
92090638815. 3
92090638816. 4

Question Number : 5 Question Id : 9209069825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P | & 1Y = 1 @ e Sifee

Jt-1 Tt 1

A) BF 3 30sar sdEH S wm () 6 W A
g adgs

(B) W 3 3fUsT HHH BT 3Jgue- (1) TR axgsi & Fwior J
HRd & oo gt A T an

(€ TP g sivsw iy ¥ fw &3 iy 25 farer 2014
o afrarfsiar agft

(D) B g4 gftgm wrfen A urdEl (v) YR #1 Sa awar &1
@1 fay &mran &1 fasm g faewra &

a1 fau v fawedi 7 4 98 S &1 9 S

(1) (A)-(1), (B)-(1), (C)-(1N), (D)-(IV)
(2) (A1), (B)-(IN. (O)-(IV). (D)-(I)
(3)  (A)-(), (B)-(I), (C)-(IV), (D)-(I1)
(4)  (A)-(V), (B)-(ID), (C)-(lI), (D)-()

Options :

92090638817. 1
92090638818. 2
92090638819. 3
92090638820. 4

Question Id : 9209069820 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Aep 3 33U YR TP R R YAdd Ueb Q1 ST 8, forges wienn 4 dgusdly sufal
3R TR BuTl &1 YRd 7 U Idrel &I v $3A & e vienfed a1 sn W@ | s9e
Hien 31 8 o6 sRexa @t et il o1 FAmion S T & siftie 9 erfde 811 wurE wed ¢ f6
2 AT & Sfaifd Ied Bl diall & Ul Jbe R 1S 3 3fear [ 81 ok gg ot Iua
€ od 39 9% B IAEA S H &1 g1 & | 39 FHH B Igured gyl 8t Rz {idt A
25 RydeR, 2014 B faa1 U1 qUT UDT Je=d SN H1 AYHAEITT-5d S | 39 Aol &
waaey [T g ¥ # ISAR dil SR AN @1 SR &Hdl B [db™ el | 39 TioHT 3
&Y g1 Y I8 g1 fob =1 H &1 a%g &1 SIHd HH gril auT g7 S0+ =1 H &1 a¥3ff &1
frafa & w1 | S Sfamal SR g% T A0 URd H 81 g1 o1 39 Faid Ieeig S
D1 g UM | YR Rl I3 F Iadre # iR g1 S| guHsE 1 39 $sbd
®1 IR B BT Iexaql 81 ST HRG o9 @9 9 g axgeil &1 sl Ided &
o, 98 fay & fasfa <o @ wnfira 81 s

Sub questions

Question Number : 1 Question Id : 9209069821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUYeR el F STYR W U Ifaa e fefeu

(1) Wi &1 f&=n ¥ o wen (2) EYE TG BT AT
(3) WS 3 30sT &1 &R &1 (4) T Hal &1 faFHm™
Options :

92090638801. 1
92090638802. 2
92090638803. 3
92090638804. 4

Question Number : 2 Question Id : 9209069822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o8 T YAl &1 pH H fafa:

A

B.

C:

D.

E;

AP 3 3fvsar HTdHH &1 e 3 § [ o & =3l =il &1 Fmior S # € aifde
g i 8l

3 HTHH BT IguTed YA o T A1l A 25 Ryawr, 2014 &1 fda o)
29 TIeHT ¥ 9 a%gsfl 3 Hiad $H gl

W O] ¥ & Iare | AR g1 s

= HHH ¥ R AR =i o1 Joft & wftifera g smam

1 feu U faeedi § 9 9el I &1 904 Hiferg :

(1)
(2)
(3)
(4)

A CDBE
EEB D CA
A BCDE
C D EAB

Options :

92090638805. 1
92090638806. 2
92090638807. 3
92090638808. 4

Question Number : 3 Question Id : 9209069823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FyTRYME:

HYT | : AP 37 30T &1 312 & Hd &1 3=t =il &1 Fafor Sw A 8
FHUA Il - T H SR TN 3R AW ot I emdl &1 fas™ g
JWRIa HYF & 3MTelep H, A1 foU U fadhedl # ¥ Wel IR &1 994 SifoY

(1)
(2)
(3)
(4)

HU | 3R 11 ST TS B
&Y | SR 1| SFT 7Ted §
&Y | Fel €, Tfh HY 11 Tad §
HY | 7T0d 8, Afh B || Tel 8

Options :



92090638809. 1
92090638810. 2
92090638811. 3
92090638812. 4

Question Number : 4 Question Id : 9209069824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E:

FYF| . AF 37 30T YRd WHR gRI UKIdd U U1 H1dHH 8, s A §
SgRIP ST R W FHFET 1 WRd H U Il @1 Al & g
UieaTied faran S|

Y AP 39 30sar HAHH A [ g S H ASHIR F¢7 3R TN P HINE &l
CARGEARREUIN

IS HYF & faid H, g fEu 71 fawedi § 9 "el 3T &1 994 Sifelw

(1) YIRS TI R

(2) HYF SR 1IEHI A §

(3) YA A g, AP HUF 11 3 HA &
(4) @Y 3T g, Albd HUA 1| T 8

Options :

92090638813. 1
92090638814. 2
92090638815. 3
92090638816. 4

Question Number : 5 Question Id : 9209069825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P | & 1Y = 1 @ e Sifee

Jt-1 Tt 1

A) BF 3 30sar sdEH S wm () 6 W A
g adgs

(B) W 3 3fUsT HHH BT 3Jgue- (1) TR axgsi & Fwior J
HRd & oo gt A T an

(€ TP g sivsw iy ¥ fw &3 iy 25 farer 2014
o afrarfsiar agft

(D) B g4 gftgm wrfen A urdEl (v) YR #1 Sa awar &1
@1 fay &mran &1 fasm g faewra &

a1 fau v fawedi 7 4 98 S &1 9 S

(1) (A)-(1), (B)-(1), (C)-(1N), (D)-(IV)
(2) (A1), (B)-(IN. (O)-(IV). (D)-(I)
(3)  (A)-(), (B)-(I), (C)-(IV), (D)-(I1)
(4)  (A)-(V), (B)-(ID), (C)-(lI), (D)-()

Options :

92090638817. 1
92090638818. 2
92090638819. 3
92090638820. 4

Sub-Section Number : 2
Sub-Section Id : 920906318
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209069826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifed & 9 fb wsdl 7 Suwd =1 82
A WIEY

B. wfad

C. HfHUEH

D. faemmH

E.  JUBR
11 fau v fawedt A @ 9t S &1 99 S

(1) &4d C A
(2) @ad C,D
(3) hdd A, B
(4) &dd B,D

Options :

92090638821. 1
92090638822. 2
92090638823. 3
92090638824. 4

Question Number : 6 Question Id : 9209069826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifed & 9 fb wsdl 7 Suwd =1 82
A WIEY

B. wfad

C.  3HfYIEH

D. faemmH

E.  JUBR
11 fau v fawedt A @ 9t S &1 99 S

(1) &4d C A
(2) @ad C,D
(3) hdd A, B
(4) &dd B,D

Options :

92090638821. 1
92090638822. 2
92090638823. 3
92090638824. 4

Question Number : 7 Question Id : 9209069827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3@ ¥ 4 a1 HgTar $1 el 31 & -

(1)  HBR B (2) it gHUS! gl
(3) @S (4) IY B
Options :

92090638825. 1
92090638826. 2
92090638827. 3
92090638828. 4

Question Number : 7 Question Id : 9209069827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il # e[l a1 gerax 31 et o § -

(1)  HBHR B (2) Sfi¥® gHUS! §IHT
(3) @IS (4) THIY B
Options :

92090638825. 1
92090638826. 2
92090638827. 3
92090638828. 4

Question Number : 8 Question Id : 9209069828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & a1y gt 1 &1 e aifon

ail-| it i
(dTeF) (PRD)
(A) IFAAN @S () WEE FRS
(B) 98 Peglal A HIedl g () 0 BRB
() feareay 9 i F&adi g () FAERS
(D) & YTar | 38 e Sifere (V) 3{UIEH HRD

412 feu e fassedi § 9 el IR &1 994 SIfT;

(1) (A1), (B)-(1), (©)-(), (D)-(IV)
(2) (A=), (B)-(1, (C)-(V), (D)-(I)
(3) (A=), B)-(m), (C)-(), (D)-(V)
4) (A=, (B)-(IV), (O)-(), (D)-(1)

Options :

92090638829. 1
92090638830. 2
92090638831. 3
92090638832. 4

Question Number : 8 Question Id : 9209069828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & Ty gt 1 &1 e Sifon

- & I
(@) (@RD)
(A) WA @S (1) HEeE FRS
(B) dE Peclol A& HIedl g () HI0 BRD
() e d i Fead g () HABHRD
(D) & WTarF | 33 & Fifere (V) 3UEH RS

2 fdu e fasedi @ 9 el IR &1 9 DI

(1) (A)-(n. (B)-(1). (C)-(1), (D)-(IV)
(2) (A1), (B)-(1N), (C)-(IV), (D)-(I)
(3) (A=), B)-(1), (O)-(), (D)-(IV)
4 (A=, (B)-(IV), (O-(), (D)-(1)

Options :

92090638829. 1
92090638830. 2
92090638831. 3
92090638832. 4

Question Number : 9 Question Id : 9209069829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &F U didl R T 8 9199 § S1-41 9w g2

(1) - fagso (2) TUrErEs fago
(3) EarEs favmu (4) ufeorEeS fagsm
Options :

92090638833. 1
92090638834. 2
92090638835. 3
92090638836. 4

Question Number : 9 Question Id : 9209069829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T & U el H T 8 ared § i-47 fager g2

(1)  Grd-ies fagem (2) Turaras fago
(3) YEarEs fagwo (4) ufeorEe A
Options :

92090638833. 1
92090638834. 2
92090638835. 3
92090638836. 4

Question Number : 10 Question Id : 9209069830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 Ugah didt | are # fare fvar o1 dlu 87

(1) Ha far 2 Ot e
(3) Ydebifers fora (4) FTH Y PS8l
Options :

92090638837. 1
92090638838. 2
92090638839. 3
92090638840. 4

Question Number : 10 Question Id : 9209069830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH1 Uga: Hidl 8| arey 1 f5d fpar 1 | 82

(1) o« b (2) diftre form
(3) ydaifers fovan (4) IAHIAPRE T8
Options :

92090638837. 1
92090638838. 2
92090638839. 3
92090638840. 4

Question Number : 11 Question Id : 9209069831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FHH m-n+9 = 0 AU m+3n =19 B P B ald m 94T n & AF HAL: &

(1) 2,71 (2) 7,.-2
3 27 4 -2,7
Options :

92090638841. 1
92090638842. 2
92090638843. 3
92090638844. 4

Question Number : 11 Question Id : 9209069831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHH m-n+9 = 0 AU m+3n =19 B P B ald m 94T n & AF HAL: &

(1) 2,71 (2) 7,.-2
3 27 4 -2,7
Options :

92090638841. 1
92090638842. 2
92090638843. 3
92090638844. 4

Question Number : 12 Question Id : 9209069832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofg 8 =4 =2 AT x+2y +z=35Q A x BIAAE -

(3 (2) 4
3) 5 4 2
Options :

92090638845. 1
92090638846. 2
92090638847. 3
92090638848. 4



Question Number : 12 Question Id : 9209069832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofg 8 =4 =2 AT x+2y +z=35Q Al x BIAAE -

(. 3 (2) 4
3) 5 4 2
Options :

92090638845. 1
92090638846. 2
92090638847. 3
92090638848. 4

Question Number : 13 Question Id : 9209069833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=E 3 il & Agan aUl HeTaH &1 0H Bd x° —x’y+x°—)° ¢l U uun e
{:x2+y2] &1 T GIRI Sl gIl-

M (x-») @ (x+y)
@ (F-y) @ (x-y+xy)
Options :

92090638849. 1
92090638850. 2
92090638851. 3
92090638852. 4

Question Number : 13 Question Id : 9209069833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fargl &1 ool & TYTH aUl 7 &1 0F Bd x° - X2y +x°— 7 el Ofe uyn aied
(Jr2+y1] &1 T GIRI Sl gIl-

M  (x-y) @ (x+y)
® (s @ frpend
Options :

92090638849. 1
92090638850. 2
92090638851. 3
92090638852. 4

Question Number : 14 Question Id : 9209069834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:-'%% Mo R TS 1 &R Y BIS YARIR e T 3 St WA &1 AT 81 SIRm?

(1) 14393 HE ) 1394 4H@
3) 13349HE @) 1394 3H@
Options :

92090638853. 1
92090638854. 2
92090638855. 3
92090638856. 4

Question Number : 14 Question Id : 9209069834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?%% e TR 0TS B &% © P 4RI oo g # S0t WA 1 AT 81 SIm?

(1) 14393 HE 2) 1394498
3) 13349HE 4) 13943 7@
Options :

92090638853. 1
92090638854. 2



92090638855. 3
92090638856. 4

Question Number : 15 Question Id : 9209069835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10% aTfte Twgis s $i &Y U g que o1 e 6 A H 216,810 8 SQT Sl
=1 famTe! ashqfs foran man g1

(1) 216,400 (2) 15,500
(3) $15,000 (4) 16,000
Options :

92090638857. 1
92090638858. 2
92090638859. 3
92090638860. 4

Question Number : 15 Question Id : 9209069835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10% aTfte awais s $i oY A g que @1 e 6 Ae A 216,810 B ST Sl
&1l fare! Seegfe ferar mar g2

(1) 216,400 (2) T15,500
(3) 215,000 (4) 16,000
Options :

92090638857. 1
92090638858. 2
92090638859. 3
92090638860. 4

Question Number : 16 Question Id : 9209069836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



8CM@NLT2Y6SaQ$7*W#T3UE%A4 IURIad hH fa-ur ¥ fba ddhd § o dabrd ydadf
IR AHT IR Habd Ueh TR AU g

i (2 2
3 3 4) 4
Options :

92090638861. 1
92090638862. 2
92090638863. 3
92090638864. 4

Question Number : 16 Question Id : 9209069836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y65uQ$7*W#I3UE%A4 IWRIad oH a0 # fava ddhd & o dapra gdadl
3R debTd ITRad| b U TR quf 2|

(1) 1 (2) 2
3 3 @) 4

Options :

92090638861. 1
92090638862. 2
92090638863. 3
92090638864. 4

Question Number : 17 Question Id : 9209069837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®YF ;. UD Dlad [dendf A BT TP i 31 ¢ (& dg U Al e Wila |
HINYROT | U AfRITd HYER ATl Te1 U faariaar g

Il : U HldrTd HgeR Al B [0 J Iig 18
(1)  $dd YR |
(2) FHdd gdYrRo ||
(3)  Hdd YdYRON | 3R YR ||

(4) T d YR | 3R 7 & qdURon ||

Options :

92090638865. 1
92090638866. 2
92090638867. 3
92090638868. 4

Question Number : 17 Question Id : 9209069837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®YF ;. UP Dlad [dandf A BT TP i 31 ¢ (& 98 U Afda1d e Wile |
SHIUYRON | : U AfTITd HHER AT Hdl gl U aaidl g |

Il ; U HfeaTd HRgeR Hadl DI Toa J gfg FAT 3
(1)  Fdd QdyRoN |
(2) Fdd JdYRO ||
(3) Hdd YdYRON | 3R QIR ||

(4) T gdHRoN | 3R 7 & gdUrRon ||

Options :

92090638865. 1
92090638866. 2
92090638867. 3
92090638868. 4

Question Number : 18 Question Id : 9209069838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A U= & IS0 7 3T ST J1d B |

D ADNAR
ey W O

(1) =30 (2) 13
(3) 18 (4) 30
Options :

92090638869. 1
92090638870. 2
92090638871. 3
92090638872. 4

Question Number : 18 Question Id : 9209069838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A U= & IS0 7 3T ST J1d B |

anWangar
oy W

(1) =30 (2) 13
(3) 18 (4) 30
Options :

92090638869. 1
92090638870. 2
92090638871. 3
92090638872. 4

Question Number : 19 Question Id : 9209069839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3mg # o e § gHSI 87

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090638873. 1
92090638874. 2
92090638875. 3
92090638876. 4

Question Number : 19 Question Id : 9209069839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 3mg # fba-Tt S # gHSI 87

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090638873. 1
92090638874. 2
92090638875. 3
92090638876. 4

Question Number : 20 Question Id : 9209069840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



45 D1 TS D&l 8, el R dgd aaidd 4 gl 74 g, iar A § WRed /A R g1 3l 6 d8d
Tl 8 ugd €, fbait wsfeal 4ot 7 Iud uyrd g

(m 34 (2) 24
(3) 10 (4 12
Options :

92090638877. 1
92090638878. 2
92090638879. 3
92090638880. 4

Question Number : 20 Question Id : 9209069840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

45 B! Ud Bl 8, Wel R ded dsfbdl 4 41 7A g, idr o 3 uRed wA w31 3fd 6 dsd
Titar § ug €, fpal wrsferal 4oft # Iud uyrd gl

(M 34 (2) 24
(3) 10 (4 12
Options :

92090638877. 1
92090638878. 2
92090638879. 3
92090638880. 4

Question Number : 21 Question Id : 9209069841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRtel-9-Ffbdd gRuRm< Hore [ Rid g8 — MOHF10 & ferg, fo™ = faar 1

(1) e-Ffdd (E-chikitsa) (2) e-ToitgHl (E-sanjeevani)
(3) e-4dY (E-swasthya) 4) e-fFatoy (E-nirvana)
Options :

92090638881. 1
92090638882. 2
92090638883. 3
92090638884. 4



Question Number : 21 Question Id : 9209069841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 4-fafdeae grumHe yumdl fasRid g5 — MOHF10 & forg, o A e a1

(1) e-ffda (E-chikitsa) (2) e-Huitg-l (E-sanjeevani)
(3) e-4d¥Y (E-swasthya) 4) e-fAafor (E-nirvana)
Options :

92090638881. 1
92090638882. 2
92090638883. 3
92090638884. 4

Question Number : 22 Question Id : 9209069842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fas, oer, MR oIk GHGRd gpyfll & s 91 & o aew apufa gR1 wAFId g
oI 87

(1) 20 (2) 8
(3) 12 (4 15
Options :

92090638885. 1
92090638886. 2
92090638887. 3
92090638888. 4

Question Number : 22 Question Id : 9209069842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagm, e, Wity SR GAGRE gy & 50 941 & fhaa Yawg upufd gR1 w=HI fbg
T 87

(1) 20 (2) 8
3) 12 (4) 15

Options :



92090638885. 1
92090638886. 2
92090638887. 3
92090638888. 4

Question Number : 23 Question Id : 9209069843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR ST Ay daa WideR — A UTg &di el

(1) HRd & Hars gaay (2) HRHY T4
(3) HNd D! Tl (4) HaHE I
Options :

92090638889. 1
92090638890. 2
92090638891. 3
92090638892. 4

Question Number : 23 Question Id : 9209069843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 YAy Jaa MiYeR —— Y U Sl o

(1) HRd P Yaf= ey (2) HRHY T9g
(3) HRd &I Sl 4) HuAE T
Options :

92090638889. 1
92090638890. 2
92090638891. 3
92090638892. 4

Question Number : 24 Question Id : 9209069844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 2025 T Thd WY Toldl (CNES) & FedRT 3§ YR faikel 38 W8 (ISRO) BIH
1 e 3R™ &R &1 TIoHT 41 8T 2

(1) W - oA 2 vewfd
(3) = fEE @) b e
Options :

92090638893. 1
92090638894. 2
92090638895. 3
92090638896. 4

Question Number : 24 Question Id : 9209069844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 2025 T Thd WY Toldl (CNES) & FedRT 3§ YR faikel 38 W8 (ISRO) BIH
1 e 3R™ &R &1 TIoHT 41 8T 2

(1) W - oA 2 vewfd
(3) = fEE @) b e
Options :

92090638893. 1
92090638894. 2
92090638895. 3
92090638896. 4

Question Number : 25 Question Id : 9209069845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Icy & Uil UG Slcd fshved IS S E !

(1) ¥ FgH siiaass

(2) TRifd®H SEHiaEs

3) Fuferpia Riferdbe

@) o R sffarss iR Riftie Sgsiiaarss &1 fayo

Options :
92090638897. 1
92090638898. 2



92090638899. 3
92090638900. 4

Question Number : 25 Question Id : 9209069845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Icy & Uil UG Slcd fshved IS S E !

(1) o Fe sffegs

2 Rt sEaiiazs

3) e Riferde

@) o R sffarss iR Riftie Sgsiiaarss &1 fayo

Options :

92090638897. 1
92090638898. 2
92090638899. 3
92090638900. 4

Part B: Anthropology
Section Id : 920906196
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906319
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209069846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Lamarckism, what is the source of evolution?

(1) Watural selection

(2) Inheritance of acquired characteristics
(3) Genetic drift

(4) Gene flow

Options :

92090638901. 1
92090638902. 2
92090638903. 3
92090638904. 4

Question Number : 26 Question Id : 9209069846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THTERATE ® TER, HH T9™ H1 | #1287

(1) wifoew 954 (2) 3urfefa it i FEmIfd
(3) AR foweE (4) == vaEE
Options :

92090638901. 1
92090638902. 2
92090638903. 3
92090638904. 4

Question Number : 27 Question Id : 9209069847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the main proposition of Darwinism?

(1) Species are fixed and unchanging

(2) Species can acquire new characteristics through use or disuse.

(3) Evolution occurs through natural selection

(4) Evolution relies on inheritance of acquired characteristics
Options :

92090638905. 1
92090638906. 2



92090638907. 3
92090638908. 4

Question Number : 27 Question Id : 9209069847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sie-aTE o1 T WEE #1187

(1) =fisfis Faif@ T sufEaE &)

(2)  ITEM FYET IHEAM % g S T I i IWhAd = Ghd &l
(3)  HHIGHE UTHidsh =54 % HEH H T 8|

(4)  whufeashE, Irferd Uil 61 FemETd 9 fR & B

Options :

92090638905. 1
92090638906. 2
92090638907. 3
92090638908. 4

Question Number : 28 Question Id : 9209069848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organelle is responsible for producing energy for the cell?

(1) Mitochondria (2) Nucleus
(3 Endoplasmic Reticulum (4) Golgi Apparatus
Options :

92090638909. 1
92090638910. 2
92090638911. 3
92090638912. 4

Question Number : 28 Question Id : 9209069848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HiyeRT % AU S 3091 F0 70 B A1 IR IHEE 27

(1) G (2) F=h
(3)  Fd:gdE St (4) oSt ITH

Options :



92090638909. 1
92090638910. 2
92090638911. 3
92090638912. 4

Question Number : 29 Question Id : 9209069849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the process by which RNA is synthesized from DNA?

(1) Translation {2) Transcription
(3 Replication (4) Mutation
Options :

92090638913. 1
92090638914. 2
92090638915. 3
92090638916. 4

Question Number : 29 Question Id : 9209069849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9% = 9wl 2 f55s g DNA %1 RNA Sveifyd g 27

-

(1) THE (2) IAfeiEA
(3) fddiEA (4) IeafEdd
Options :

92090638913. 1
92090638914. 2
92090638915. 3
92090638916. 4

Question Number : 30 Question Id : 9209069850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which enzyme is responsible for separating the two strands of DNA during replication?

(1) DNA Polymerase (2) Helicase
(3) Ligase (4) RNA Polymerase



Options :

92090638917. 1
92090638918. 2
92090638919. 3
92090638920. 4

Question Number : 30 Question Id : 9209069850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wfaepdiae = aid DNA & & §31 %1 99% F6 & o S 91 Uaes Wt 27

(1) DNA dicfmE (2) #elehd
(3) @ (4) RNA wiefimE
Options :

92090638917. 1
92090638918. 2
92090638919. 3
92090638920. 4

Question Number : 31 Question Id : 9209069851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the largest human chromosome?

(1) Chromosome — 01 (2) Chromosome — 13
(3 Chromosome — 18 (4) Chromosome — 22
Options :

92090638921. 1
92090638922. 2
92090638923. 3
92090638924. 4

Question Number : 31 Question Id : 9209069851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 # & uHe +1 998 931 EF BF 491 87

(1) 7RG - 01 (2) TUEE - 13
(3) TR - 18 (4) TESE - 22



Options :

92090638921. 1
92090638922. 2
92090638923. 3
92090638924. 4

Question Number : 32 Question Id : 9209069852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following blood type is known as the Universal donor?

(1) A (2) B
(3) AB 4 O
Options :

92090638925. 1
92090638926. 2
92090638927. 3
92090638928. 4

Question Number : 32 Question Id : 9209069852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 9 Torm 199 O 1 IS g1 HE A 87

1 A (Z) B
3) AB (4 O
Options :

92090638925. 1
92090638926. 2
92090638927. 3
92090638928. 4

Question Number : 33 Question Id : 9209069853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What iz the first law of Mendel?

(1) Law of Segregation (2) Law of Independent Assortment
(3) Law of Dominance (4) Law of Inheritance
Options :

92090638929. 1
92090638930. 2
92090638931. 3
92090638932. 4

Question Number : 33 Question Id : 9209069853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 g fagr /a2

(1) E9"HA/faaas= #1 FEm (2) @A I9gET &1 Em
(3)  wyrfaar &1 g (4) Fwmrta =1
Options :

92090638929. 1
92090638930. 2
92090638931. 3
92090638932. 4

Question Number : 34 Question Id : 9209069854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During which stage of mitosis do the chromosomes align at the center of the cell?

(1) Prophase (2) Metaphase
(3 Anaphase (1) Telophase
Options :

92090638933. 1
92090638934. 2
92090638935. 3
92090638936. 4

Question Number : 34 Question Id : 9209069854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T it fopa arae ¥ Fife F g § e dfeeg 8 9 87

r

(1)  gataeT (2) weTEE
(3)  TyETEE (4) FegTaEEn
Options :

92090638933. 1
92090638934. 2
92090638935. 3
92090638936. 4

Question Number : 35 Question Id : 9209069855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The New-World monkeys are families of primates that are found in :

(1) Northern India, Bhutan and Sri Lanka
(2) Countries of African Continent
(3 Mexico, Central America and South America

(4) Indonesia, Malaysia and Adjoining Island

Options :

92090638937. 1
92090638938. 2
92090638939. 3
92090638940. 4

Question Number : 35 Question Id : 9209069855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-gE Hehl I AT & TR & = § 91 #|
(1) 30 uTE, YeF a9 die
(2)  3Thie HETEM % <1
(3)  HfEel, e I qun gfEh i
(4) Sl FEfEE 991 9 G 29
Options :
92090638937. 1

92090638938. 2
92090638939. 3



92090638940. 4

Question Number : 36 Question Id : 9209069856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following, which anatomical change was observed when humans became
bipedal?

(1) Opposable Toe

(2)  Absence of Chin

(3) Inferiorly placed foramen magnum
(4) Straight femur

Options :

92090638941. 1
92090638942. 2
92090638943. 3
92090638944. 4

Question Number : 36 Question Id : 9209069856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7o qAe fg-urd =1 91 39 T O 9 S 9 wifes ufedq a@ e

(1) wfaeemg e (2) fags =19 &
(3) Wenw =i JuEd f2afq (4) Hiedr FaiiEy
Options :

92090638941. 1
92090638942. 2
92090638943. 3
92090638944. 4

Question Number : 37 Question Id : 9209069857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The fossils of Pithecanthropus erectus was discovered in the vear 1891 from

(1) Shivalik hills (2) Java
(3) Choukovtein (4) Nile valley
Options :

92090638945. 1
92090638946. 2
92090638947. 3
92090638948. 4

Question Number : 37 Question Id : 9209069857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefisuim stFem % Sfawg 99 1891 § T H W 7 4|
(1) Torefers i varfeaf (2) S

(3) b (4) e 7§ Fi a
Options :

92090638945. 1
92090638946. 2
92090638947. 3
92090638948. 4

Question Number : 38 Question Id : 9209069858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a part of the human skeleton?

(1) Fibual (2) Patella
(3) Ulna (4) Malleus
Options :

92090638949. 1
92090638950. 2
92090638951. 3
92090638952. 4

Question Number : 38 Question Id : 9209069858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
= # & T A S w1 a2

(1) =fEsifas (Fibula) (2) weem (Patella)
(3) Fa.gFRIESH (Ulna) (4) feTm (Malleus)
Options :

92090638949. 1
92090638950. 2
92090638951. 3
92090638952. 4

Question Number : 39 Question Id : 9209069859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT one of the three somatotyvpes deseribed by William Sheldon?

(1) Endomorph (2) Mesomorph
(3 Ectomorph (4) Hypermorph
Options :

92090638953. 1
92090638954. 2
92090638955. 3
92090638956. 4

Question Number : 39 Question Id : 9209069859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= O 9 =19 91 39 gideEy 4 ° v 94 g foae avie fafoag sesa a3 fear g7

(1) =& =9 (2) 79 ¥4
(3) @ w9 (4) Fwfasg
Options :

92090638953. 1
92090638954. 2
92090638955. 3
92090638956. 4

Question Number : 40 Question Id : 9209069860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which bone is NOT a part of human skull?

(1) Parietal Bone {2) Sphenoid Bone
(3 Fibula Bone (4) Temporal Bone
Options :

92090638957. 1
92090638958. 2
92090638959. 3
92090638960. 4

Question Number : 40 Question Id : 9209069860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= @t w1y g Fure %1 9 T8 27

(1) Tafmefe (2) whHTEs HEg
(3) =fgsifesr sifey (4) THe iy
Options :

92090638957. 1
92090638958. 2
92090638959. 3
92090638960. 4

Question Number : 41 Question Id : 9209069861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Bipedalism has heen a critical advancement in the evolutionary process of
humans.

Reasons (R) : Walking upright on 2 legs has been a response to the changes in

environment spanning over a period of around four million years.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090638961. 1
92090638962. 2
92090638963. 3
92090638964. 4

Question Number : 41 Question Id : 9209069861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &1 YA QU T € : U AHHe (Assertion (A)) % €9 T fefEd 8 91 gHU 39 FRU
(Reasons (R)) % ®9 4 :

FweE (A) :  OE & Ha-Taem i ufEm 7 B-nd g v wifas wfa @ 2
A0 (R) : 21 21 W EE B H1Y o 9@ia § o 4 ffees 96l % daia §

U 9@l & 9l U iR g

IHH Y o el H, A fou 70 fohedl § § 90 39 301 1 991 hifag;

(1)
(2)
(3)
(4)

(A) 3R (R) <H1 781 & 3R (R), (A) F1 =t =3me=n 2

(A) 37 (R) g wét 2, @f (R), (A) i =& =amen 78 2
(A) w#t 8, wf (R) 581 78 21

(A) @l 78 8, @i (R) 78 2|



Options :

92090638961. 1
92090638962. 2
92090638963. 3
92090638964. 4

Question Number : 42 Question Id : 9209069862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Due to decrease of body size in the course of human evolution, there has

been lowering of cranial capacity as well.

Reasons (R) : The increase in cranial capacity and complexity of human brain is co-

related with development of language and usage of tools.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) 1s falze but (R) is true

Options :

92090638965. 1
92090638966. 2
92090638967. 3
92090638968. 4

Question Number : 42 Question Id : 9209069862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= a1 97 fou U § : vF 3fEuE (Assertion (A)) % ®9 1 foiftaad & @ g@0 39 wAW
(Reasons (R)) HEIH :

HAYFYT (A):  AFE & HAGEHE T HET & W9 T FH1 34 & S0 HIE a9qar 5 o
T 31 g 2

FA (R) : FACE &Fal § gfg a9 " wfeass 6 dfeear, W % fawm qw
ITHN % ITAN F WY FE-Ha(Gd 2

ITH HYH o HATellh H, A fou mu fawmedt § & 996 39w I H1 IIH Hifau;

(1) (A) 3R (R) 3HT =& & 3 (R), (A) i =&l =area 2|

(2) (A) 3R (R) 31 wEl &, =itk (R), (A) =i wel =amen 78 2|
(3) (A) @ 2, wifd (R) @&l 8 2

(4) (A) @l @ 2, @l (R) 981 2

Options :

92090638965. 1
92090638966. 2
92090638967. 3
92090638968. 4

Question Number : 43 Question Id : 9209069863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following hominid fossils in reverse chronological order (most recent to

the earliest) :

(A) Homo erectus

(B)  Australopethecus africanus
(C) Neanderthals

(D) Grimaldi

(E) Homo sapiens

Choose the correct answer from the options given below :

(D (B, A), B), (C), (D) (2) (E), (D), (C), (A), (B)

3)  (E), (B), (4), (D), (C) (4) (E), (C), (A), (B), (D)

Options :

92090638969. 1
92090638970. 2
92090638971. 3
92090638972. 4

Question Number : 43 Question Id : 9209069863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e frarei w1 ®1e1 & faulia s 8 safera %) (e 8 goa)
(A) EmEEER

(B)  SAETellTedehy Thishd

(C) TEr=wEE

(D) uEgRE
() smEfy

= fou v faedi § & H& I 1 F5 Hif
(1) (E), (A), (B), (O), (D)
(2) (E), D), (C), (A), (B)
(3) (E), (B), (A), (D), (C)
(4)  (E), (C), (A), (B), (D)

Options :

92090638969. 1
92090638970. 2
92090638971. 3
92090638972. 4

Question Number : 44 Question Id : 9209069864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chronologically arrange the following discovery/prepositions :
(A) Theory of inheritance of acquired characteristics

(B) Theory of natural selection

(i Discovery of cell

(D) UNESCO statement on race

(E) Law of independent assortment

Choose the correct answer from the options given below :

(1) (C), (B), (A), (E), (D) (2) (C), (E), (A), (B), (D)
(3) (C). (D), (B), (E), (A) (4) (C). (A), (B), (E), (D)
Options :

92090638973. 1
92090638974. 2
92090638975. 3
92090638976. 4

Question Number : 44 Question Id : 9209069864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=fafas g /gl S SemaHar =afed Hi
(A)  ITifsla @&l % fore ssmme 1 fagrea

(B)  wrehfesh == 1 fagra

(C) =iferer i @i

(D) et = fawa & gaeni =1 rfawgA

(E) &ad 319ege4 &1 fam

= fou o faeedl § 8 9 ST 1 959 it
(1) (C), (B), (A), (E), (D)
(2)  (C), (E), (A), (B), (D)
3y  (C), (D), (B), (E), (A)

(4)  (C), (A), (B), (E), (D)
Options :
92090638973. 1
92090638974. 2
92090638975. 3
92090638976. 4

Question Number : 45 Question Id : 9209069865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In the evolutionary historv of humans, Homo erectus were relatively more

developed than Neanderthals.

Statement I1 : In the evolutionary history of humans, Homo erectus were relatively less

developed than Archaic Homo Sapiens.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement | and Statement I are incorrect

(3) Statement [ is correct but statement I is incorrect

(4) Statement [ is incorrect but statement I1 is correct
Options :

92090638977 1
92090638978. 2
92090638979. 3
92090638980. 4

Question Number : 45 Question Id : 9209069865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i & o feg Mo

FEA1: WHE & HA-TTwE & sfaem § FErswen f s EdEEes Aivs
Ta=fam 9

FYA Il : oFE & Fa-fge@ & sfiem § g @i & o0 § amsieed &y
Taenfem 4|

ITF HYH o e °, 4= fou mu fawedi @ & 94 I0gwE IR #1994 FHifew -

(1) A [ 3R [ g |8 81
(2) w3 1 eH o 2l
(3) = 1= &, S % 11 e 2|
(4) FYF 174 g, oife oA 11 98 2

Options :

92090638977. 1
92090638978. 2
92090638979. 3
92090638980. 4

Question Number : 46 Question Id : 9209069866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement I : Trizsomy for chromosome 21 in humans is also known as Down's Syndrome.

Statement I1 : Trisomy for chromosome 18 in humans is also known as Patau Syndrome.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement | and Statement I are false

(3) Statement [ is true but statement 11 is false
(4) Statement [ is false but statement I is true
Options :

92090638981. 1
92090638982. 2



92090638983. 3
92090638984. 4

Question Number : 46 Question Id : 9209069866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 3w ey mw E

FeH 1: TFa d A 21 % fou greandt &1 23 %1 fGgm ot %8 9 2|
FuA 11 : oHa | TR 18 o foru zeandt =i wers fagm ft &er s 2|

ITI HYF F ATAF 1, = feu mu e 9 ° gE I W =99 it

(1) &%= [ 3R [ EH 9 Bl
(2) =eE 1 3R AT 39 &l
(3) =Y 189 8, A %9 11 3159 2|
(4) wu [ 3\ 2, A %9A 115 2|

Options :

92090638981. 1
92090638982. 2
92090638983. 3
92090638984. 4

Question Number : 47 Question Id : 9209069867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are incorrect?

(A) There is no scientific basis for discriminating human stocks.
(B) Trisomy for chromosome 18 is Edward Syndrome.

() Gorilla is the largest primate.

(I Humans have ‘M’ shaped spine

(E) Sternum is a part of skull.

(Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (A) and (B) only
(3 (D) and (E) only (4) (B) and (C) only
Options :

92090638985. 1
92090638986. 2
92090638987. 3
92090638988. 4

Question Number : 47 Question Id : 9209069867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraforfas & @ #F § F97 TEd 27

(A) TFd Wi ¥ 98 F F71 w8 3915 9E T8 2|
(B) oA 18 H @l 1 9 WA € ugas g 2l
(C)  TifteeT q=d =gl /-9 2|

(D) =Fal i {ig 1 8881 H AR M’ @1 i gl
(E) e @st &1 U 9 2|

= feu o faedi 9 | 98 I =1 =94 Hifw
(1) = (A), (©)
(2) ad (A), (B)
(3) e (D), (E)

(4) ad (B), (O)

Options :

92090638985. 1
92090638986. 2
92090638987. 3
92090638988. 4

Question Number : 48 Question Id : 9209069868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is/are incorrect?

(A) Charles Darwin proposed the idea of Genetic Equilibrium.

(B) Law of Independent Assortment was proved wrong by Lamarck.
(C) Human gametes contain 23 pairs chromosomes.

(D) Inhabitants of African continent mostly belong to Negroid ethnie stock.

Choose the most appropriate answer from the options given below :

(1)  (C) and (D) (2) (A)and (B)
(3) (&) and (C) (4) (B), and (D)
Options :

92090638989. 1
92090638990. 2
92090638991. 3
92090638992. 4

Question Number : 48 Question Id : 9209069868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 4 8 =4 9 Tem 27

(A)  =Ted BfER § FHafS Gqer & faem # yemfad

(B) A 319ede i 4 SAamh gr Terd fag e fean

(C) WHa W& | 23 A &id 2|

(D) 3k HETE & et sifushat i ArEedE wis @ gEy w@d A

e feu U fasedl o & 9E I %1 999 Fifau
(1) === (C), (D)
(2) == (A), (B)
(3) == (A), (C)

(4) =aa (B), (D)



Options :

92090638989. 1
92090638990. 2
92090638991. 3
92090638992. 4

Question Number : 49 Question Id : 9209069869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List [ List I1
(A) ABO Blood Group (I)': ' Hardy-Weinberg
(B) Australopithecus africanus (IIY) Raymond Dart
(C) Human Somatotype (IIT) Karl Landsteiner
(D) Genetic variation (IV) William Sheldon

Choose the correct answer from the options given below:

(1) (A)-ID), (B)-(ID), (C)-(IV), (D)-(D)
(2)  @-D, B)-AD, (C)-AV), (D)-(11D)
(3 (A)-D), (B)-AID, (C)-(IV), (D)-()
(4)  (A)-IV), (B)-(D, (O)-(IIL), (D)~(II)

Options :

92090638993. 1
92090638994. 2
92090638995. 3
92090638996. 4

Question Number : 49 Question Id : 9209069869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % =9 ge-11 1 foes il

(A)
(B)
(©)
D)

Hre feu mu fawedi 9 € W 39 =1 999 Hifw .

(1)
(2)
(3)
(4)

g1 Ft-11

ABO T 9Yg @ &l e
HgEEaHE ThiE (1) e BE
e HHREEY (I11) FTe e=m
sHate fafayga (IV) fafeam seea

(A)-(IID), (B)-(1D), (C)-(IV), (D)-(I)
(A)-(D), (B)-(I0), (C)-(IV), (D)-(11I)
(A)-(ID), (B)-(1D), (C)-(IV), (D)-(I)
(A)-(IV), (B)-(D), (C)-(11I), (D)-(1I)

Options :

92090638993. 1
92090638994. 2
92090638995. 3
92090638996. 4

Question Number : 50 Question Id : 9209069870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

(A)
(B)
(C)
(D)

List I
Homo Sapiens
Australopithecines
Acceleration of maturation

Java Man

List I1
(I} Starting of Bipedalism
(IT) S-Shaped spine
(III) Protruding Jaw
(IV) Secular Trend

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(ID), (C)-(T), (D)-(11I)
(A)-(IIL), (B)~(II), (C)-(IV), (D)-()
(A)-(D), (B)-(IV), (C)-(1II), (D)-(I1L)
(A)-(ID), (B)-(I1T), (C)-(IV), (D)-(D)



Options :

92090638997. 1
92090638998. 2
92090638999. 3
92090639000. 4

Question Number : 50 Question Id : 9209069870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teft-1 % @y g 11 w1 T Hifs
g1 g1
(A) gt aftera () fg-9rg =1 urey
(B) srtzramrgaiE= (I) S HAHR FT HECTS
(C) uftaegsan =1 = (I11) &fe: wforE s=e
(D) S 87 (IV) S w9

fre feu 7o famedi @ @ T 39 =1 == it .

(1) (A)-aV), (B)-(II), (C)-(D), (D)-(11I)
(2)  (A)-(I), (B)-1D), (C)-(IV), (D)-(I)
3 W-), (B)-(IV), (C)-(II), (D)-(I1)
(4)  (A)-ID), (B)-(IID), (C)-(IV), (D)-(D)

Options :

92090638997. 1
92090638998. 2
92090638999. 3
92090639000. 4

Question Number : 51 Question Id : 9209069871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which statement is correct about the concept of culture?
(1)  Culture is unique to literate people
(2)  Culture represents mental realities only
(3) Culture is learned and shared

(4) Culture is specific to individuals



Options :

92090639001. 1
92090639002. 2
92090639003. 3
92090639004. 4

Question Number : 51 Question Id : 9209069871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEER(d i FEURN & G99 § &F ¥ S99 FE 87

(1) =i 1 "R =9 % e gepfa fg 2
(2) TEHla A THEE aRAfahaTl & gl 2
(3) HEH( HI HhE a4 A0 HA 1 EHAT 2
(4) wEhpld =afe fafire 2 21

Options :

92090639001. 1
92090639002. 2
92090639003. 3
92090639004. 4

Question Number : 52 Question Id : 9209069872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the core aspect of ethnography?

(1) Participant Observation (2) Content Analysis
(3) Historical Documents (4) Folk Narratives
Options :

92090639005. 1
92090639006. 2
92090639007. 3
92090639008. 4

Question Number : 52 Question Id : 9209069872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qHETTd - &1 JYd T8c] 91 87

(1) wfaarft sEers (2) fawa =g =1 fagerm
(3) UfeiE qEE (4) < Iama
Options :

92090639005. 1
92090639006. 2
92090639007. 3
92090639008. 4

Question Number : 53 Question Id : 9209069873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most commonly cited defining feature of caste does not include :

(1) Caste is determined by birth

(2) Caste groups are endogamous

(3 (Caste were traditionally linked to occupations

(4) Caste is an open system allowing social mobility
Options :

92090639009. 1
92090639010. 2
92090639011. 3
92090639012. 4

Question Number : 53 Question Id : 9209069873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it 1 FElYe 9 § &1 9 Jrefl 9T % Wed § = § 9 F3 aftfoa T8 87

(1) =g =1 fufor 5= 9 g 2l
(2) fd TYE 3A-HeAda &d &l
(3) TEEE ®9 € Aid R W 9 AT i § gEihd o)
(4) =t v goa =ae & o gt fasferan i 3w 21

Options :

92090639009. 1
92090639010. 2
92090639011. 3



92090639012. 4

Question Number : 54 Question Id : 9209069874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process by which cultural elements are borrowed from another society is called diffusion.

Which of the following is not a type of process of diffusion?

(1 Direct contact diffusion (2) Indirect contact diffusion
(3) Stimulus diffusion (4) Intermediate contact diffusion
Options :

92090639013. 1
92090639014. 2
92090639015. 3
92090639016. 4

Question Number : 54 Question Id : 9209069874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% ka1 T5Ed (s d@l w1 3 89 | o 9 8, 39 fomw wEd Bl e A E
i €t faerm 1wl 78 27

(1) v |ueh faem (2) ZAUHY H9H o
(3) g faw (4) weErEdT @ femw
Options :

92090639013. 1
92090639014. 2
92090639015. 3
92090639016. 4

Question Number : 55 Question Id : 9209069875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyandry is practiced in very few societies. The example of such society is

(1) MNuer of Africa (2) Todas of India
(3) Maori of New Zealand (4) Raji of Nepal

Options :



92090639017. 1
92090639018. 2
92090639019. 3
92090639020. 4

Question Number : 55 Question Id : 9209069875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W& Y GHS § wg-ufayr e W1 UE FHI 1 SgE d
(1)  arfie &1 = (2) 9RA F W

(3)  guirels =1 A3 (4) 9T T TS
Options :

92090639017. 1
92090639018. 2
92090639019. 3
92090639020. 4

Question Number : 56 Question Id : 9209069876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not classified as affinal kin?

(1) Daughter’s hushand (2) Father's brother
(3) Sister-in-law (4) Mother's brother's wife
Options :

92090639021. 1
92090639022. 2
92090639023. 3
92090639024. 4

Question Number : 56 Question Id : 9209069876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 5 9 el f9ame gaddt 9avi § afiga 721 foran man 7
(1) =@ =1 9fd (grme) (2) foar =1 92 (Im=n/arS)
(3) e /ardt (4) =t & wrg 1 ueit (Ar)

Options :



92090639021. 1
92090639022. 2
92090639023. 3
92090639024. 4

Question Number : 57 Question Id : 9209069877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pattern of residence in which the newly married couple does not live with or near kin, is
called

(1) Neolocal (2) Patrilocal
(3 Bilocal (4)  Awvunculocal
Options :

92090639025. 1
92090639026. 2
92090639027. 3
92090639028. 4

Question Number : 57 Question Id : 9209069877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ETE 1 UHT G4 A8 A9-Taaifeq eufq gafbay & @y @1 395 99 98 =
HEAT Bl

(1) -z 2 firg - wf
(3 T -k (4) @EEgEe (Avunculocal)
Options :

92090639025. 1
92090639026. 2
92090639027. 3
92090639028. 4

Question Number : 58 Question Id : 9209069878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tylor thought that the belief in souls was the earliest form of religion. The term used to refer

to such belief is :

(1) Animatism (2) Totemism
(3 Animism (4) Bongaism
Options :

92090639029. 1
92090639030. 2
92090639031. 3
92090639032. 4

Question Number : 58 Question Id : 9209069878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEeR 1 faar @1 & srema 4 favaw @ v &1 Qe @E 91| 36 YR % Od &

Hefdd = & foe 3ugm 4 < S 9o 9= e

(1) SHSiEdarnEg (2) Zienan

(3) SaaE (4) @i (Bongaism)
Options :

92090639029. 1
92090639030. 2
92090639031. 3
92090639032. 4

Question Number : 59 Question Id : 9209069879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The practice of determining guilt or innocence by submitting the accused to dangerous and

painful test is called

(1) oath (2) mediation
(3) adjudication (4) ordeal
Options :

92090639033. 1
92090639034. 2
92090639035. 3
92090639036. 4



Question Number : 59 Question Id : 9209069879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A F AR a91 55 o 9 T gl 3HH 30 g o fuatfa w9+
HEATH Fed 2l

(1) Mg (2) T4
(3)  sAfufrg (4) =Rfe= TiEm
Options :

92090639033. 1
92090639034. 2
92090639035. 3
92090639036. 4

Question Number : 60 Question Id : 9209069880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Kula ring practiced by Trobriand Islanders is example of

(1) Balanced Reciprocity (2) Generalized Reciprocity
(3) Market Exchange (4) Global Supply Chain
Options :

92090639037. 1
92090639038. 2
92090639039. 3
92090639040. 4

Question Number : 60 Question Id : 9209069880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ZifsraT= granfaat g arsms | o SH 9 gen o e 5§ e e 27

(1) Eqfera IR (2) \EEHT TR
@) =R faf (4) afesh Y @
Options :

92090639037. 1
92090639038. 2
92090639039. 3



92090639040. 4

Question Number : 61 Question Id : 9209069881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Claude Levi-Strauss is considered the leading proponent of an approach to anthropological

theory, named

(1) Evolutionism (2} Ethno science
(3 Structuralism (4) Marxism
Options :

92090639041. 1
92090639042. 2
92090639043. 3
92090639044. 4

Question Number : 61 Question Id : 9209069881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Tdl-=2id =l AFaEH Agra & 68 397 %1 Juv S99 9= 97 27

(1) TowmEr (2) wATTafaT
(3) HEAEE (4) wEEaE
Options :

92090639041. 1
92090639042. 2
92090639043. 3
92090639044. 4

Question Number : 62 Question Id : 9209069882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Franz Boas is founding American Anthropologist. His theoretical ideas are labeled as :

(1) Functionalism (2) Psychoanalysis
(3 Feminism (4) Historical particularism
Options :

92090639045. 1



92090639046. 2
92090639047. 3
92090639048. 4

Question Number : 62 Question Id : 9209069882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi S Uk G Yades gHatasE 21 396 g faenl = e § 3 e ver g
fafga T mne

(1) AT

(2)  wArfererT

(3) THER

(1) ufdEias ﬁﬁﬁgﬁ'ﬂﬁm jﬁlﬁm (Historical Particularism)
Options :

92090639045. 1
92090639046. 2
92090639047. 3
92090639048. 4

Question Number : 63 Question Id : 9209069883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term “Backward Hindus” for the tribals of India was coined by

(1) M.N. Srinivas (2) G.S. Ghuriye
(3) S.C. Dube (4) L.P. Vidyarthi
Options :

92090639049. 1
92090639050. 2
92090639051. 3
92090639052. 4

Question Number : 63 Question Id : 9209069883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR i St  fore foss fag o v fean?

(1) vH.w. HifE=m (2) Sfi.ug. giwn
(3) AL g (4) ve. . fagamdf
Options :

92090639049. 1
92090639050. 2
92090639051. 3
92090639052. 4

Question Number : 64 Question Id : 9209069884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The “Kurukh” language spoken by oraons of Central India belongs to

(1) Austo-Asiatic family of languages
(2) Dravidian family of languages
(3) Indo-Aryan family of languages

(4) Sino-Tibbetan family of languages

Options :

92090639053. 1
92090639054. 2
92090639055. 3
92090639056. 4

Question Number : 64 Question Id : 9209069884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y UTE § 3R AT gH aielt JH arell HEEl ey ey deatud 27

(1) 9Tl 1 ALI-UETE 9 (2) WIS = FfAE 98
(3)  WMIT FT TEI-3EH T (4) a3l %1 ArEAl-fasadt g
Options :

92090639053. 1
92090639054. 2
92090639055. 3
92090639056. 4



Question Number : 65 Question Id : 9209069885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sixth schedule of constitution provides partial autonomous status to the tribal areas.

Which state among following have sixth schedule area in India?

(1) Gujrat (2} Uttarakhand
(3 Aszsam (4) Karnataka
Options :

92090639057. 1
92090639058. 2
92090639059. 3
92090639060. 4

Question Number : 65 Question Id : 9209069885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfaa= &1 B ST TG dTel &A1 B HAMF Taaar &1 Wl JgH Hdl 2| Hefafaa
T F HH 8 ToF I GG § Bl IFES! 1 & W g3 87

(1) T=a (2) ITES
(3) IEw (4) FAEH
Options :

92090639057. 1
92090639058. 2
92090639059. 3
92090639060. 4

Question Number : 66 Question Id : 9209069886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Aszsertion (4A) : The 23" Amendment in the Indian Constitution made significant changes

in tribe’s participation in Indian democracy.

Reasons (R) : Formation of Gram Panchayvats and Gram Sabhas facilitated the access to

benefits of various Government schemes.
In the light of the above Statements, choose the choose answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is falze but (R) is true

Options :

92090639061. 1
92090639062. 2
92090639063. 3
92090639064. 4

Question Number : 66 Question Id : 9209069886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 %Y QU T 8 : U AMFHEA (Assertion (A)) F &9 # fofEa 2 a1 gaU 395 FAO
(Reasons (R)) & ®9 7 :

wweE (A) :  WWHE "iauE & 739 5uieE § 9 & 99ad 0 S9artadi S giaqiiEn &
fore srefquf ot forg 7w )

= (R) : T A 9T T TS & TS g i s sEwal & o mqe
pric i

ITRE HLH % AT °, A fou mu fawed O & 999 39w I FH 95 Hifau;

(1) (A 3R (R) 541 561 & 3 (R), (A) i =& =amen 2

(2) (A 3 (R) TF1 & &, S (R), (A) 1 =t =3me 78 2
(3) (A) =i g, il (R) el 78 2|

(1) (N =@ FE 2, S (R) T8 2

Options :

92090639061. 1
92090639062. 2
92090639063. 3
92090639064. 4

Question Number : 67 Question Id : 9209069887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One ig labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Cross-culturally, wife-beating is the most common form of family violence.

Reasons (R) : Inequality of men and women in economic access is the reason of violence

against women in society.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is falze but (R) is true

Options :

92090639065. 1
92090639066. 2
92090639067. 3
92090639068. 4

Question Number : 67 Question Id : 9209069887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &1 YA fqu T € : U ATaHe (Assertion (A)) % €9 T fofEd 8 @1 gHU 39 HRU

(Reasons (R)) % ®9 4 :

ANFEA (A) 1 3T: AEHAH T § Tt Bl T TETH G651 H qaG9H qH= &9 2

F (R) : anfdes wife O Teul a1 afgensii § EHEa gurs § ofgensi & wfa e
=T HA 2

IFIH FHYA & A H, = 60 70 fohed § § g9 I9IH IT B T91 I

(1) (A) 3R (R) 4T 56 & 3 (R), (A) i =& == 2
(2)  (A) #HR(R) gH1 @t &, wiféh (R), (A) 1 @t =amean 78 21
(3) (A) = 2, afer (R) ot 7 21
(1) (A @& 7@ &, @ (R) 781 2
Options :



92090639065. 1
92090639066. 2
92090639067. 3
92090639068. 4

Question Number : 68 Question Id : 9209069888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the theoretical schools of Anthropology chronologically in ascending order :
(A) Diffusionism

(B) Functionalism

() Structuralism

(D Symbolic theories

(E) Post modernism

Choose the correct answer from the options given below :

(1) (A), (B), (C). (D), (E) (2)  (A). (C), (B), (D), (E)
(3) (A), (E), (B), (C), (E) (4) (A), (E), (B), (O), (D)
Options :

92090639069. 1
92090639070. 2
92090639071. 3
92090639072. 4

Question Number : 68 Question Id : 9209069888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a6 HGT(~1% Jal %l $H1e & qed g0 %A § qiead Hi:
(A) wHEER

(B) werETE

(C) wHFEE

(D) i fagra

(E) wvaamyfearang

= feu v fa=eTl 9 O 9E 39 1 =994 Sifau

(1) (A, B), (C), (D), (E)
(2)  (A), (C), (B), (D), (E)
(3)  (A), (D), (B), (C), (E)
(4) (), (E), (B), (C), (D)

Options :

92090639069. 1
92090639070. 2
92090639071. 3
92090639072. 4

Question Number : 69 Question Id : 9209069889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ethnographic fieldwork is a systematic method of knowledge creation. Arrange the steps of

fieldwork from beginning to end :
(A) Identifving key informants
(B) Rapport establishment

(i Selection of topic and field
(In Data collection

(E) Classification and analysis of data and writing

Choose the correct answer from the options given below :

(1) (A). (C). (B), (D), (E) (2) (C). (B), (A). (D), (E)
(3) (A), (D), (C), (B). (E) (4)  (A), (E), (D), (C), (B)
Options :

92090639073. 1
92090639074. 2
92090639075. 3
92090639076. 4

Question Number : 69 Question Id : 9209069889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT -0 % foTu &= §9 Feiq 1 v sgated fafa 21 e & =0n S 9w |
3T T AT H

(A) H=F g %l 989 Bl

(B) H9S TIUA HET

(C) &= aen fawg =1 === +

(D)  FAiHE THT HTT

(E) 3Tl o1 it 9 fayeiaor 991 oiE" S &0

e feu o fawewl 4§ w3 w1 95 fifew

1) (A), (©), B), (D), (E)
@ (0, B), (A), D), (E)
3 (@), D), (C), ®), (B
@) (A), (B), (D), (©), (B)

Options :

92090639073. 1
92090639074. 2
92090639075. 3
92090639076. 4

Question Number : 70 Question Id : 9209069890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Disasters such as earthquakes, floods and droughts can have greater or
lesser effects on human life, depending on social conditions.
Statement I1 : Disasters are partly social problems, with partly social causes and

zsolutions.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is correct but statement I1 is incorrect

(4) Statement I is incorrect but statement I1 is correct
Options :

92090639077. 1
92090639078. 2
92090639079. 3
92090639080. 4

Question Number : 70 Question Id : 9209069890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g e fer e E

FUA L [, qME TG @ TS 61 A9 HHEITAe TR % SFTER gEE SiEd )
i AU Hed I9E S Hohd 8|

w9 [1: HAMe] e 9 °§ amifas gg@n & oo snfis amfas s aon
HETYH E|

ITE FHY & @ °, H= G T fGFhedi § ¥ F99H 30 I A1 994 i

(1) =¥ 1 3 11 g1 5t £l
(2) =yA 1 3R 11 gH1 T 2
(3) =¥ 1 FE g, oo %97 11 7o 2
(4) =¥ 1 7o 8, wfea sy 1188 2

Options :

92090639077. 1
92090639078. 2
92090639079. 3
92090639080. 4

Question Number : 71 Question Id : 9209069891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Cultural Ecology seeks to understand the relationships between cultures
and their physical and social environment.

Statement I1 : Some of the earliest anthropologists associated with cultural ecology are
Julian Steward, Franz Boas and Karl Marx.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but statement II is false

(4) Statement I is false but statement 11 is true



Options :

92090639081. 1
92090639082. 2
92090639083. 3
92090639084. 4

Question Number : 71 Question Id : 9209069891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & wee fgg o &

FYA 1 wEFfaw Tieafadl g SERfaar a9 3 Hifas 9 Gt TEeEon § gadi
=1 wHe =l 2

FG 11 : o3 WIS, HF AE T FHel 7FH GEHaE qEidh] 8 F6Yd $9
IR AHafaaH 2

I FHYF 5 AT 4, {9 for T fFedi § § ¥4 I I FH 997 HAC ;

(1) zq [ 3 11 gF7 96 2|
(2) =¥ 1 3R 1 eF] Ted &1
(3) Ty [ FE 2, o =99 11 e 2
(4) e [ 7ad &, ofed wuA 1188 21

Options :

92090639081. 1
92090639082. 2
92090639083. 3
92090639084. 4

Question Number : 72 Question Id : 9209069892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the thinkers associated with evolutionism :
(A) E.B. Tvlor

(B) Clifford Geertz

(0 Eric Wolf

(D L.H. Morgan

(E) D.N. Majumdar

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (E) only (4) (A) and (D) only
Options :

92090639085. 1
92090639086. 2
92090639087. 3
92090639088. 4

Question Number : 72 Question Id : 9209069892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farmame ¥ wafua faansl #it 129H +i:

(A) 3.4 o
B) fewe fida
(C) U= go%

(D) UHA.UH, HiH

(E) €IL.uA. H9HEeR

e feu o faseui @ § 5 39 1 999 Hifa .
(1) == (A), (B)
(2) %9 (B), (C)
(3) e (A), (E)

(4) ad (A), (D)

Options :

92090639085. 1
92090639086. 2
92090639087. 3
92090639088. 4

Question Number : 73 Question Id : 9209069893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the major braches of Anthropology :
{(A) Physical Anthropology

(B)  Social-cultural Anthropology

(C)  Asian Anthropology

(D)  Anthropology of law

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (B) only
(3) (C) and (B) only (4)  (A) and (D) only
Options :

92090639089. 1
92090639090. 2
92090639091. 3
92090639092. 4

Question Number : 73 Question Id : 9209069893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHafasH i & WEn S = 87
(A)  ifess amEfasmA

(B) @mifses - HiEhfas wHafaTH
(C) ufmET gFafEEH

(D) fafa =1 geafasm

+r= feu o faew § § TE I %1 999 St
(1) == (A), (C)
(2) wEe (A), (B)
(3) =« (C), (B)

(4) Had (A), (D)



Options :

92090639089. 1
92090639090. 2
92090639091. 3
92090639092. 4

Question Number : 74 Question Id : 9209069894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

List 1 List IT
(A) M.N. Srinivas (I} Little and great tradition
(B) L.P. Vidyarthi (IY Sanskritization
(C) N.K. Bose (IIT) Sacred Complex
(D) Robert Redfield (IV) Hindu Mode of Tribal Absorption

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I), (C)-(I1I), (D)-(T)
(2) (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(3) (A)-(ID, (B)-(IV), (C)-(I11), (D)-(D)
(4) (A)-(IL), (B)-(11D), (C)-(IV), (D)-(I)

Options :

92090639093. 1
92090639094. 2
92090639095. 3
92090639096. 4

Question Number : 74 Question Id : 9209069894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=1-1 % w19 g=-11 &1 e Hifag

g1 H-11
(A) T difmm (D) B 91 92

(B) uadi. fagmei (1) et

(C) T3, =9 (I1T) wfersr wa &qg
(D) Tae t=fics (IV) ST & ATHETES
=l famg fafy

e feu o fawedi O 9 wd I %1 999 Hifaw .

(1) (A)-AV), (B)-(ID), (C)-(I1I), (D)-(T)
2y (A)-@, (B)-(I), (C)-(1I), (D)-AV)
(3)  (A)-ID, (B)-(IV), (C)-(I1I), (D)-(I)
(4)  (A)-(AD, (B)-(I1D), (C)-(IV), (D)-(I)

Options :

92090639093. 1
92090639094. 2
92090639095. 3
92090639096. 4

Question Number : 75 Question Id : 9209069895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List [ List I
(A) Hunting-gathering I Buksa
(B) Pastoraliam (I) Banjara
(C) Agriculture (IIT) Birhors
(DY Artisans (IV) Gaddi

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(LIT), (C)-(IV), (D)-(1T)
(2) (A)-(IID), (B)-(IV), (C)-(I), (D)-(IT)
(3) (A)-(II), (B)-(I1I), (C}-(IV), (D)-(D)
(4)  (A)-(D), (B)-(ID), (C)-(IIT), (D)-(IV)

Options :

92090639097. 1
92090639098. 2
92090639099. 3
92090639100. 4

Question Number : 75 Question Id : 9209069895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% |rg gei-11 & fiem $ifse
-1 11
(A) IE-HTH (D) g
(B) wm=a (IT) &=
(©) (I11T) femer
(D) FreTsr (IV) gt

frg feu 7o famei # @ e 39 =1 == i .

(1) @)-, (B)-(D), (C)-AV), (D)-I)

(2)  (A)-I), (B)-(AV), (C)-(1), (D)-(1I)

(3)  (A)-aI), (B)-(IID), (C)-(IV), (D)-()

4)  (W-), (B)-(ID), (C)-(ID), (D)-(IV)
Options :



92090639097. 1
92090639098. 2
92090639099. 3
92090639100. 4

Question Number : 76 Question Id : 9209069896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following, which 1s the oldest glacial phase ?

(1) Riss (2) Gunj
(3)  Mindel (4) Wurm
Options :

92090639101. 1
92090639102. 2
92090639103. 3
92090639104. 4

Question Number : 76 Question Id : 9209069896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frmfafes & 4, wian feae e =b & 27

(1) & (Riss) (2) 7= (Gunj)
(3) fI== (Mindel) (4) =9 (Wurm)
Options :

92090639101. 1
92090639102. 2
92090639103. 3
92090639104. 4

Question Number : 77 Question Id : 9209069897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an absolute dating technique ?

(1) Stratigraphy (2) Thermoluminescence

(3) Seriation (4) Palynology



Options :

92090639105. 1
92090639106. 2
92090639107. 3
92090639108. 4

Question Number : 77 Question Id : 9209069897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fafigd % =1 & as g Fe- o 1S 27

(1) TaGeRAfas (2) aT9EEIH
(3) =UERAT (4) T fasE
Options :

92090639105. 1
92090639106. 2
92090639107. 3
92090639108. 4

Question Number : 78 Question Id : 9209069898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tools were developed during Mesolithic period?

(1) Chisels (2) Microburins
(3 Axes (4) Adgzes
Options :

92090639109. 1
92090639110. 2
92090639111. 3
92090639112. 4

Question Number : 78 Question Id : 9209069898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN i § 9 4 8 s 9 3itan fawfaa e gr

(1) =t (2) WTEHISNA [qEmasui
(3) Fon/FearEl (4) =FeT
Options :

92090639109. 1
92090639110. 2
92090639111. 3
92090639112. 4

Question Number : 79 Question Id : 9209069899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During which of the following time periods did the pleistocene epoch occur?

(1) 66 million to 56 million vears ago
(2) 56 million to 33.9 million years ago
(3 2.58 million to 11,700 years ago

(4) 11,700 years ago to the present

Options :

92090639113. 1
92090639114. 2
92090639115. 3
92090639116. 4

Question Number : 79 Question Id : 9209069899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafcifigd @ @ foFE @ 1&g % SRH s i §377

(1) 66 fafeem & 56 fafeas ad g4 (2) 56 faferaa & 33.9 fafem ad @
(3)  2.58 faferaa & 11,700 fafermm od ©@(4) 11,700 ffeem a9 @ & ad9 o

Options :

92090639113. 1
92090639114. 2
92090639115. 3
92090639116. 4



Question Number : 80 Question Id : 9209069900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is pluvial period?
(1) A period of widespread glacation

(2) A period of increased rainfall in arid regions

(3) A period of voleanic activity
{4) A period of sea-level decrease
Options :

92090639117. 1
92090639118. 2
92090639119. 3
92090639120. 4

Question Number : 80 Question Id : 9209069900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(FEgfe) e 5= 71 % 41 87

(1) Torga feareare =1 (2) % &F1 4 991 § gig aren e
(3) ATTgE T AT FH B (4) THz T g8 HAT ATel B
Options :

92090639117. 1
92090639118. 2
92090639119. 3
92090639120. 4

Question Number : 81 Question Id : 9209069901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How old can earbon dating accurately determine the age of an artifact?

(1) Up to 100 years old (2) Up to 1000 years old
(3 Up to 10,000 years old (4) Up to 50,000 yvears old

Options :



92090639121. 1
92090639122. 2
92090639123. 3
92090639124. 4

Question Number : 81 Question Id : 9209069901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rl foeqshen &1 Taar 1 fRal W™ 9% FEA HA-HOR0 g0 ®EE ®9 § fHaifa
fepan < wha 27

(1) 100 =9 & 6t T (2) 1000 9 ek = aar
(3) 10,000 99 T =i Ta-al (4) 50,000 99 TS I FATAT
Options :

92090639121. 1
92090639122. 2
92090639123. 3
92090639124. 4

Question Number : 82 Question Id : 9209069902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of stone tool 1s commonly associated with Lower Palaeolithic Period?

(1) Chopper (2) Burin
(3) Celt (4) Grinding stone
Options :

92090639125. 1
92090639126. 2
92090639127. 3
92090639128. 4

Question Number : 82 Question Id : 9209069902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HET4: 8 TR H1 99 AR = [ 3 | 69t 2 7

(1) PSR (2) wEfi
(3) =U (4) U9 geR
Options :

92090639125. 1
92090639126. 2
92090639127. 3
92090639128. 4

Question Number : 83 Question Id : 9209069903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following best characterizes the Neolithic period?

(1) It is a period of widespread glaciation
(2) It is a period of significant voleanic activity
(3) It is a period of early human civilization and agricultural development
(4) It is a period of the rizse of Roman empire
Options :

92090639129. 1
92090639130. 2
92090639131. 3
92090639132. 4

Question Number : 83 Question Id : 9209069903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= @ | *19 |1 F9 FaumTr 0 S a9 #9959 H goiar 87

(1) ¥ faega fenresred =1 31 2|

(2) ¥ "EwUl SATCTE! Afwadl &1 I 2

(3) ¥E 3fe AHE FET a9 FY fGwE F= g0 8
(4) ¥ U5F "H=T % 34 =1 7 &l

Options :

92090639129. 1
92090639130. 2



92090639131. 3
92090639132. 4

Question Number : 84 Question Id : 9209069904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mousterian tool making technique is also known as :

(1) Discoid Core Technique (2) Indirect Percussion Technique
(3) Fluting Technique {4) Shattering Techique
Options :

92090639133. 1
92090639134. 2
92090639135. 3
92090639136. 4

Question Number : 84 Question Id : 9209069904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAR T i AR dEAh B off &1 S 2|

(1) Teowigas =N aHi® (2) AIIE TET dHAID
(3) g aeE (4) To=-fim = Hi TH=+
Options :

92090639133. 1
92090639134. 2
92090639135. 3
92090639136. 4

Question Number : 85 Question Id : 9209069905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a Neolithic site in Assam ?

(1) Kamrup (2) Barpeta

(3 Daojali Hading (4) Cachar

Options :



92090639137. 1
92090639138. 2
92090639139. 3
92090639140. 4

Question Number : 85 Question Id : 9209069905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i O | %9 o1 e 3190 O Us 9T T 8 7

(1) =Hmg (2) =
(3) T &g (1) FBR
Options :

92090639137. 1
92090639138. 2
92090639139. 3
92090639140. 4

Question Number : 86 Question Id : 9209069906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Attirampakkam is an open-air site in Tamil-Nadu. It is famous for :

(1) Palaeolithic tools (2) Mesolitihic tools
(3 Neolithic tools (4) Chalcolithic tools
Options :

92090639141. 1
92090639142. 2
92090639143. 3
92090639144. 4

Question Number : 86 Question Id : 9209069906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEATTRY, g § U Go-we &1 98 fhas foru ufag 27

(1) TN 3ER (2) HEEANEO HR
(3) E9TET HER (4) THEER A HAR
Options :

92090639141. 1
92090639142. 2
92090639143. 3
92090639144. 4

Question Number : 87 Question Id : 9209069907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Aahar culture of Rajasthan is the classical representation of :

(1 Palaeolithic tools (2) Mesolitihic tools
(3 Neolithic tools (4) Chaleolithic tools
Options :

92090639145. 1
92090639146. 2
92090639147. 3
92090639148. 4

Question Number : 87 Question Id : 9209069907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 HTER Fhid 1 qaH Fe9H 2

(1)  qUam g (2) HEETSTOl
(3)  TaTETOr (1) AHIE I
Options :

92090639145. 1
92090639146. 2
92090639147. 3
92090639148. 4



Question Number : 88 Question Id : 9209069908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a site of Indus Valley Civilization?

(1 Chanhudaro (2) Burzahom
(3 Kalibanga (4) Surkotada
Options :

92090639149. 1
92090639150. 2
92090639151. 3
92090639152. 4

Question Number : 88 Question Id : 9209069908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femaferfiga & & 7 @1 fomy ardt wwren =1 e 18 27

(1) =rgarst (2) goEm
(3)  =HIciEm (4) HHrET
Options :

92090639149. 1
92090639150. 2
92090639151. 3
92090639152. 4

Question Number : 89 Question Id : 9209069909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is characterized as a Megalith ?

(1) The Great Wall of China (2} The Cologseum in Rome
(3) The Stone henge in England (4) The Statue of Liberty in USA
Options :

92090639153. 1
92090639154. 2



92090639155. 3
92090639156. 4

Question Number : 89 Question Id : 9209069909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafofas 4 @ 58 memmm & w9 4 fafa e smr 27

(1) & U< 9 TS =150 (2) T Hiefaay, T4
(3) T WHET, 3RS (4) g =g A% fomdl, Luau,
Options :

92090639153. 1
92090639154. 2
92090639155. 3
92090639156. 4

Question Number : 90 Question Id : 9209069910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Currently, the present day world is in which epoch?

(1) FPleistocene (2) Holocene
(3 Pliocene (4) Miocene
Options :

92090639157. 1
92090639158. 2
92090639159. 3
92090639160. 4

Question Number : 90 Question Id : 9209069910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAHM |, A I g TmE g R 7

(1) “oseEE () (2) EreEE
(3) AEEA () (4) TEER (IETTH)




Options :

92090639157. 1
92090639158. 2
92090639159. 3
92090639160. 4

Question Number : 91 Question Id : 9209069911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One ig labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Radio-Carbon is a useful method for determining the age of organic
materials.
Reasons (R) : Radio-Carbon dating relies on the decay of Carbon-14, a radio active isotope

of carbon, and can provide accurate estimates of the age of materials.

In the light of the above Statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) 15 not correct but (R) is correct
Options :

92090639161. 1
92090639162. 2
92090639163. 3
92090639164. 4

Question Number : 91 Question Id : 9209069911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 21 YA fqu T B : vs AfuFe (Assertion (A)) % &9 ¥ fafga 8 a1 gaU 39 FRO
(Reasons (R)) % #9 4 :

AYHE (A) : w9 Tgrdl i 7Y Fuiia F4 F v fegmmes Faqane uh 39@be
faf 21
=R (R) fearmm" HEAWYR, ®EA-14 5 &, ®Ed % Uh  (Sardshd

TOEATHS T UG & a91 9q3A i 37g F GH FTHE TgH B
Tl B

IHIE HLF @ 4, = o U foweni 4 4 599 I9g® 39 H T4 HifU;

(1)  (A) 3R (R) TFT @& & 31 (R), (A) i =t =men 2

(2)  (A) 3R (R) 2F1 @& E, =6 (R), (A) 1 78t =3men 72 2
(3) (A =l 2, «ife (R) |8l =487 2|

(1) (A Fé FE g, @l (R) =é 2

Options :

92090639161. 1
92090639162. 2
92090639163. 3
92090639164. 4

Question Number : 92 Question Id : 9209069912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) :  The glacial era, also known as the Ice Age, was a period of repeated
advances and retreats of large ice sheets that affected much of the

world.

Reasons (R):  During the glacial era, global temperatures were much higher than

today, resulting in formation of huge water bodies in Europe.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4)  (A) is false but (R) is true

Options :

92090639165. 1
92090639166. 2
92090639167. 3
92090639168. 4

Question Number : 92 Question Id : 9209069912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 ®YA QU T § : U AuFHEA (Assertion (A)) % &9 § fafEa g a1 gaU 396 RO
(Reasons (R)) % #9 1 :

FfyweE (A) ;. Temet g =1 ssbien 0 i F&d 81 T8 aEdl a9 e femEed *
ST 1 g o7 Foee sAfiea fava =t wafem feeam

FA (R) : et g it srafy o dfvaes a9 6t go § Frh st o1 faees
wfomraEd o | fawme s@ Fer &l

IFIH HIA & e H, = U mu fommedl § § g95 I9gw® 39 H T91 HI0;

(1)  (A) 3R (R) TF1 76 & 3 (R), (A) Fi & =3me= &)

(2)  (A) 3R (R) SHi @&t 2, feh (R), (A) i @t =amen 8 2
(3) (A FE 2, wf (R) wél 74 2

(1) (A wé 7@ 2, @l (R) w8 2

Options :

92090639165. 1
92090639166. 2
92090639167. 3
92090639168. 4

Question Number : 93 Question Id : 9209069913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order starting from the earliest to the most recent :
(A) Lower Palaeolithic

(B Upper Palaeolithic

() Neolithic

(D) Mesolithic

(E) Middle Palaeolithic

Choose the correct answer from the options given below :

(1)  (B), (C). (A), (D), (E) (2) (C), (B), (A), (D), (E)
(3)  (B), (A), (C), (D), (E) (4)  (A), (E), (B), (D), (C)



Options :

92090639169. 1
92090639170. 2
92090639171. 3
92090639172. 4

Question Number : 93 Question Id : 9209069913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=fetfiad =i A § YRR @ik Fdi-aq / 3TEa a9 o HICEHAHER SHadd i

(A) ity gaEmE
(B) 3= g
(C)  =a9mEm
(D)  HeEgEm

(E) =& qammEm

fr= feu o famreai § @ 9E I %1 =999 Fifau .

(1) (B), (C), (A), (D), (E)
(2) (C), (B), (A), (D), (E)
(3)  (B), (A), (C), (D), (E)
(4)  (A), (E), (B), (D), (E)

Options :

92090639169. 1
92090639170. 2
92090639171. 3
92090639172. 4

Question Number : 94 Question Id : 9209069914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following archaeological sites on the basis of age of artifacts found at each site,

starting from the oldest to the most recent :
(A) Burzahom

(B) Bhimbetka

() Langhnaj

(I Sarai Nahar Rai

(E). Attirampakkam

Choose the correct answer from the options given below :

(1) (B). (C). (A), (D), (E) (2) (E). (B), (D), (C), (A)
(3) (B), (A), (C), (D), (E) (4) (A), (E), (B), (D), (C)
Options :

92090639173. 1
92090639174. 2
92090639175. 3
92090639176. 4

Question Number : 94 Question Id : 9209069914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 g el w1 98 WE 18 freasensti i QU $ YR W ey ([Wad) § e
T SHaredd i

(A) HeEH
(B) imaes
(C) <A

(D) ¥F ATEL T
(B) sfeetmaasrn

g few o famedl 9 & w8 I 1 959 Hifaw

(1) (B), (C), (A), (D), (E)
(2) (E), (B), D), (C), (A)
(3)  (B), (A), (C), (D), (E)
(4)  (A), (E), (B), (D), (C)

Options :

92090639173. 1
92090639174. 2
92090639175. 3
92090639176. 4

Question Number : 95 Question Id : 9209069915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : The Mesolithic period is well known for Microlithie tools.

Statement I : Ringstone and celts were developed during lower Palaeolithic period.

In the light of the above Statements, choose the most appropriate answer from the option

given below :

(1) Both Statement | and Statement 11 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement I is correct but statement 11 is incorrect

(4) Statement I is incorrect but statement I is correct
Options :

92090639177. 1
92090639178. 2
92090639179. 3
92090639180. 4

Question Number : 95 Question Id : 9209069915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 3 Fu feg w2

FUH [ : T I HI GEIIE IHFR & 0 FE S 2

Fue 11 :  wafy g g 9 foreF 9w [eer fasfaa feu m)

ITF FYF & S 4, {9 fGu U FFeqi § ¥ ¥ I9GF I H 991 i ;

(1) e 13 11 241 81 2|
(2)  FH 1 3R 11 4 1o 2|

(3) Ty T8 2, o w99 1 e 2
(4) &Y 17 2, oI wad 11 981 2
Options :

92090639177. 1
92090639178. 2



92090639179. 3
92090639180. 4

Question Number : 96 Question Id : 9209069916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Grinding and polishing technique of tool making flourished during

Mesolithic period.

Statement I1 : Clactonian and Levalloisian are absolute dating methods for determining

the age of artifacts.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement Il are false

(3) Statement [ is true but statement 11 is false
(4) Statement I is false but statement I is true
Options :

92090639181. 1
92090639182. 2
92090639183. 3
92090639184. 4

Question Number : 96 Question Id : 9209069916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= < o Ty e € -

FIT 1 TEIE T H HAR T H FE q1 Giere A hi qehei 4 3A1d |

FY 11 : Toersensnt & 3y fuifa 6 * fou st aon daaiasHt a@-rs g
e fafo fafemt 2

ITE FHI & @l °, H fGu T faFhedi § 5 F99 I9gE I B 991 HI0

(1) =eF 130 gl 98 2
(2)  FY 1 3R I 2T T4 2|
(3) = 158 8, wife 24 11 e 2
(4) =¥ 17Ted 8, ofeq sy 1188 2

Options :

92090639181. 1
92090639182. 2
92090639183. 3
92090639184. 4

Question Number : 97 Question Id : 9209069917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are FALSE?

(A) In Chaleolithic culture, copper and stone were utilized for making everyday

equipments.
(B) Sangan Kallu is a lower Palaeolithic site in Andhra Pradesh.
(C) Mehniris a type of Neolithic tool.

(D) In archaeology, NBP refers to Northern Black Polished ware culture.

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (B) and (C) only
(3) (C) and (D) only (1) (A) and (D) only

Options :



92090639185. 1
92090639186. 2
92090639187. 3
92090639188. 4

Question Number : 97 Question Id : 9209069917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= 03 =H 91 %34 Ted 87

(A)  <fe 3T S o 7T TIEEA 0 | dfd aY1 goud 1 39EnT fohan s o

(B) Y Yo ¥ THEoe] U AT JOUTEIT T 2

(C) HEFR U FE9E YR 6T HAT B

(D) YaEtaswE 8 NBP &1 7Y & - FiaH st qievs 99t Hhoal

= feu o fasweui @ © Tl I w1 934 Hifa
(1) e (A), (O)
(2) %= (B), (C)
(3) =« (C), (D)

(4) A« (A), (D)

Options :

92090639185. 1
92090639186. 2
92090639187. 3
92090639188. 4

Question Number : 98 Question Id : 9209069918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

(A) Adamgarh (Madhya Pradesh) is a famous Chalcolithic culture site.
(B)  Painted grey ware is a characteristic feature of Iron Age culture.
(C)  Mousterian tools were developed during Iron Age.

(D)  Dendrochronology is a dating technique based on counting of tree-rings.

Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

92090639189. 1
92090639190. 2
92090639191. 3
92090639192. 4

Question Number : 98 Question Id : 9209069918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & & =F 8 o wd €7

(A) HAEHTG (HEVE) UF UiHg AHTER S5 F1 ¥4 8

(B) 98 1§ Uz fohu 8 904 ©iig F1el i TEhid i f99mal 2l

(C) itz et § wEaciE 3wl & fawm & =)

(D) FH-ToE1 H AT F YR T HA-HIR0 FHT T B JH-I0F FAFH famH
Ed 2l

= feu Mo fomredi # & HET I 1 T2 HiC

(1) ==t (B), (D)

(2)  F(A), (C)

3) I (0), (D)

(4) = (A), (D)



Options :

92090639189. 1
92090639190. 2
92090639191. 3
92090639192. 4

Question Number : 99 Question Id : 9209069919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I

{A) Gamblian () Wurm
(B) Kanjeran (II) Gunj
(C) Kageran (IIT}) Riss
Dy Kamasian (IV) Mindel

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(T), (D)-(I1T)

(2) (A)-(III), (B)-(I), (C)-(ID), (D)-(IV)

(3 (A)-(I1), (B)-(I), (C)-(IV), (D)-(I1I)

(4) (A)-(D), (B)-(11D), (C)~(II), (D)-(IV)

Options :

92090639193. 1
92090639194. 2
92090639195. 3
92090639196. 4

List I

Question Number : 99 Question Id : 9209069919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % @12 gt 11 &1 e it

T=-1 =11
(A) TEfeEs (I) =4 (Wurm)
(B) F (I) 7 (Gunj)
(C) e (I1I) T (Riss)

(D) EILIGEE (IV) fi=e (Mindel)
= feu v fawedi 4 9 9& I =1 999 Fifsw -

(1) (A)-AV), (B)-(I), (C)-(D), (D)-(I1I)
(2) (A)-ID, B)-D, (C)-aD), (D)-AV)
(3 (A)-I), B)-(D), (O)-(IV), (D)-(11L)
4)  (A)-D, (B)-ID), (C)-(I), (D)-(AV)

Options :

92090639193. 1
92090639194. 2
92090639195. 3
92090639196. 4

Question Number : 100 Question Id : 9209069920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List II
(A) Cairn circle (I)' " Lower Palaeclithic
(B) Sohan culture (I) Tool making
(C) Fluting (I} Neolithic
(D) Brahmagiri (IV) Megalith

Choose the correct answer from the options given below:

(1) (A)-(III), (B)-(IV), (C)-(I), (D)-(1I)
(2) (A)-(IV). (B)-(D). (C)-(II), (D-(I1I)
(3) (A)-(D), (B)-(IV), (C)-(ID), (D)-(I1I)
(4) (A)-(II), (B)-(I1I), (C)-(D), (D)-(IV)

Options :

92090639197. 1
92090639198. 2
92090639199. 3
92090639200. 4

Question Number : 100 Question Id : 9209069920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % |1y gt 11 &1 faere s :

-1 ge=-11
Q) FHg (D) fergaom™
(B) &g @whia (1) faw fmf
(C) wegfen (11I) =/ 9T
(D) sl (IV) wETaTEmT

= feu v fawedi 9 © 9E I =1 999 Hifsw

(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(II)
(2)  (A)-V), (B)-(I), (C)-(ID), (D)-(I1T)
(3 (A)-(D), (B)-(IV), (C)-(1I), (D)-(11T)
(4)  (A)-(ID), (B)-(II), (C)-(I), (D)-(IV)

Options :

92090639197. 1
92090639198. 2
92090639199. 3
92090639200. 4



